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m=510,m FV0=0 m=600,m FV0=0 m=660,m FV0=0 m=720,m FV0=0
24 1 - MW “1 —o— MW —— MW —— MW
24 91 26 -
22
24 +
20 221 20
18 - 20 22
19
16 . 18 a 20 T
14
16 18 1 18 -
12 - T T T T T T T T T T T T
510 515 520 600 605 610 660 665 670 720 725 730
m=780,m FV0=0 m=840,m FV0=0 m m
—— MW —— MW
26 26
24 24 -
22 29
20
20 +
780 785 790 840 845 850
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P3-2

BfiE) | BRI (FD) | EE (EH/AR) | XK R

07:10 210 100.0 = RRi&e07:10 Fzh (RAEES)
08:10 210 100.0 E| {Rig@08:10 Fzh (RE{ERSE)
09:10 210 100.0 = {Ri%@09:10 F3 (RFAERSE)
10:10 210 100.0 El BRi&e10:10 Fzh CGRAEESE)
11:45 210 100. 0 5| 1Ri%e11:45 F5 GREAERE)
13:20 210 100.0 5 {Ri%e13:20 Fh (RAMERSE)
14:35 210 100.0 = RRiB@14:35 Fz (RFAEEE)
=23t| 1470.0 (%) 700.0 3EHKEC: 2080.0, PH: 6.0

FEREHER 2 STEELRF (135.0 :

BRI\ EPRERE109. 0 ml.

# B /KECZE (2580. 0 vs 3640.0) RS

109.0), FAIEEAHT—@E XAHS

FEREEBEC (2580.0) 5i&EEC (2000.0) RERKX, BH/E




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

1.

P3-2_0, Day=27 (2025-04-25)

100

75

50 A

25 A

o
I

(

—_

()}

(=]
1

100

a1
o
1

V1, VE3RRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

740
618

Warning: lcol [FVI',| "FVO’'] missing

810

650 65856

- 1000

- 750

- 500

FRV (ml d-1)

- 250

1.0

col ['WC1',| "WC2'] missing

Warning:

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

0.0

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

300 -

200 -

100 -

]
Bylnit @D30 06:12: ET=582 Fg=700.0 Ro=132.0
I

- 1000

- 500

cumET (ml/plant)

P o
1 2 3 4 5 6 7 8 9 10 11 12 13 14

16

17

22 23

300 A

p—— 4 ® \ 4
Wi
HHE

H§ H%E Hﬁ HHE HEE H%E Hi HHE HEE E3 ES = E3 E3

=
B

E3
B

E3 ES
B 5]

200 -

100 -

ByEt @D27 18:42: ET=691 Fg=654. 0 Ro=nan

\ 4 4 @
o

- 1000

- 500

cumET (ml/plant)

1 2 3 4 5 6 7 8 9 10 11 12 13 14

15

22 23

300 A

B BB [Z(2= (2= B | B | B | B | iE | iE | iE | A5

ES
5]

E3 ES
B 5]

200 -

100 -

]
ByWoFv @D30 06:12: ET=656 qg=700.0 Ro=2.0
]

- 1000

- 500

cumET (ml/plant)

0

10

11

16

17

18

19

20

21

22

23

0.8

E3
B

ES
5]

ES
5]

=
B

E3
B

E3
B

ES
5]

=
B

E3
B

E3
B

ES
5]

0.6

0.4+

0.2~

0.0

| _obs

—@— PPFD obs




Jl-'v

560 660 760 860
m=720,n FV0=0

Warning: col ["M_E’] missing

.0 0.2 0)4 0)6 0.8
m=510, FV0=0

—_

—o— MW

510 5%5 5&0
m=780,n FV0=0

- MW

780 785 790

18.

18.

18.

18.

18.

17.

17.

21.

21.

21.

21.

21.

20.

05 -

00

m=510, FV0=0

20 A

15

10 ~

95 A

90 ~

- ME

T
510

5%5 550
m=780,n FV0=0

—o— ME

780

7é5 7é0
m=600,n FV0=0

Warning: col "MW ] missing

0.2 0j4 OfG 0.8
m=840, FV0=0

26 -

24

22 A

20 -

-o— MW

840

845 850

22.2

22.0 -

21,

21.

21.

m=600, FV0=0

Warning: col ['M_E'] missing

m=840, FV0=0

T T
0.2 0.4 0.6 0.8

—o— ME

8&5 850
m=660,n FV0=0

—— MW

665 670

18. 60 -

18. 55 A

18. 50 A

18. 45 -

18. 40 ~

27.

25.

22.

20.

17.

15.

12.

m=660, FV0=0
—o— ME
660 665 670
m
1T —e— mw

0

560 660 760 860 900
m=720,m FV0=0

Warning: col "MW ] missing

0.0 0.2 0.4 0.6 0.8 1.
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P3-2

Byia) | EEBEETIC (7)) | EBE (BAH/HK) | XK R

07:10 240 90.0 =] {Ri%@07:10 F (REAHRRESE)
08:10 240 90.0 F BRi%e08:10 Fz1 (RAERERE)
09:10 240 90.0 S {Ri%@09:10 Fzh (FAMERSE)
10:10 240 90.0 E BRi&e10:10 Fzh CGRAEESE)
11:10 240 90.0 E BRige11:10 Fz1 CGRAERESE)
12:30 240 90.0 5 {Ri%e12:30 F3h (RAERSE)
14:05 240 90.0 = RRiB@14:05 Fz (RFEAEEE)
=3t|1680.0 (70%) 630. 0 3EHKEC: 2080.0, PH: 6.0

FEREHER 2 STEEARFT (155.0

BRIASERRERE125. 0 ml.

125.0), AIEERT—@E XAH5
EORGEBIRTC (240) 5748 (173. 0) A FF, AleEH T % @R #EiRS %2 XiER

BERSEBIEC (2590.0) HiZZEEC (2000.0) REIK K, BHHE

O] RECZE (2590. 0 vs 3955.0) fwE




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-2_0, Day=26 (2025-04-24)

1

80
60 1650 F620
40 -

20 -

50 Warning: lcol ['FVI', '"FVO'] missing

VI,V%ﬁgRV,ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET

930 - 1000

- 750

- 500

- 250
106

200 -
( o vi

150 A FRV

100 ~

[S3)
o
1

— M_E

maxM

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

0.0

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

300 -

200 -

100 A

]
Bylnit @D30 06:12: ET=396 Fg=480.0 Ro=127.0

7
- 1000

- 750

- 500

- 250

300 -

- 1000

200 -

100 A

- 750

- 500

- 250

7

9 10
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18

19

20 21 22 23

30{ B | B | B[ B |KB|[B

i

E3 ES
5 G

ES
5]

=
B

E3
B

E3
B

ES
5]

=
B

E3
B

E3
B

ES
5]

5 5 i & | 1000

200 -

100 A

]
ByWoFv @D30 06:12: ET=559 qg=630.0 Ro=1.0

e o e o |
®

- 500

- 250

14

15

16

17

18

19

20 21 22 23

0.8

E3
B

ES
5]

=
B

E3
B

E3
B

ES
5]

= E3 E3 ES
B B B 5]

0.6

0.4+

0.2~

0.0
1500

1000

500 -

—_— 4
[ ] | _obs
—@— PPFD obs

20 -

15 4

10

T obs
To_obs

60

RH
[ ] RH_obs
40 A RHo obs

20

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



16.

16.

16.

16.

16.

21 -

20 A

19

18

17

16

M_E

T T T T
500 600 700 800 900

m=720,m FV0=0

60

55 -

50 A

45

40 ~

—o— M_E

=
i

7é5 750
m=510,n FV0=0

18

16

14

12

—o— MW

7
\7

5%5 550
m=780,n FV0=0

28 A

26 -

24

22 A

20 -

18

-— MW

i
i

785 790

16.

16.

16.

16.

16.

16.

18.

17.

17.

17.

17.

17.

17.

m=510, FV0=0

60

58

56 -

54 -

52 -

50

—0— ME

5%5 5&0
m=780,n FV0=0

T
510

1 —om

M_E

7é5 7é0
m=600,n FV0=0

18 1

17 4

16

15 1

14

13 1

—o— MW

665 6%0
m=840,n FV0=0

600

28 A

26 -

24

22 A

20 A

- MW

840 845 850

16.

16.

16.

16.

16.

16.

21.

20.

20.

20.

20.

19.

m=600, FV0=0

50 A

48 -

46

44 -

42

40 ~

—e— ME

T
600

665 6%0
m=840,n FV0=0

00 ~

75 1

50 A

25 A

00 ~

75

——

M_E

840

8&5 8%0
m=660,n FV0=0

26 -

24

22 -

20 A

18

16

14

—o— MW

660

665 670

16.

16.

16.

16.

16.

m=660, FV0=0

30

25 ~

20 A

15 4

10

- ME

T T
660 665 670

25 A

20

15 4

10 -

—o— MW

T T T
600 700 800

m=720,m FV0=0

900

26

24 -

22 -

20 -

18

16

—0— MW

720 725 730



